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QUESTION 1

You have created an Autonomous Data Warehouse (ADW) service in your company\\'s Oracle Cloud Infrastructure
(OCI) tenancy and you now have to load historical data into it. You have already extracted this historical data from
multiple data marts and data warehouses. This data is stored in multiple CSV text files and these files are ranging in
size from 25 MB to 20 GB.

Which is the most efficient and error tolerant method for loading data into ADW? (Choose the best answer.)

A. Create Auth token, use it to create an object storage credential by executing
DBMS_CLOUD.CREATE_CREDENTIAL, using the web console upload the CSV files to an OCI object storage bucket,
create the tables in the ADW database and then execute DBMS_CLOUD.COPY_DATA for each CSV file to copy the
contents into the corresponding ADW database table.

B. Create the tables in the ADW database and then execute SQL*Loader for each CSV file to load the contents into the
corresponding ADW database table.

C. Create Auth token, use it to create an object storage credential by executing
DBMS_CLOUD.CREATE_CREDENTIAL, using OCI CLI upload the CSV files to an OCI object storage bucket, create
the tables in the ADW database and then execute Data Pump Import for each CSYV file to copy the contents into the
corresponding ADW database table.

D. Create Auth token, use it to create an object storage credential by executing
DBMS_CLOUD.CREATE_CREDENTIAL, using OCI CLI upload the CSV files to an OCI object storage bucket, create
the tables in the ADW database and then execute DBMS_CLOUD.COPY_DATA for each CSV file to copy the contents
into the corresponding ADW database table.

Correct Answer: D

QUESTION 2

Your company recently adopted a hybrid cloud architecture which requires them to migrate some of their on-premises
web applications to Oracle Cloud Infrastructure (OCI). You created a Terraform template which automatically provisions
OCI resources such as compute instances, load balancer, and a database instance. After running the stack using the
terraform apply command, it successfully launched the compute instances and the load balancer, but it failed to create a
new database instance with the following error:

Service error: NotAuthorizedOrNotFound. shape VM.Standard2.4 not found. http status code: 404

You discovered that the resource quotas assigned to your compartment prevent you from using VM.Standard2.4
instance shapes available in your tenancy. You edit the Terraform script and replace the shape with VM.Standard2.2

Which option would you recommend to re-run the terraform command to have required OCI resources provisioned with
the least effort? (Choose the best answer.)

A. terraform plan —target=oci_database_db_system.db_system
B. terraform apply —auto-approve

C. terraform refresh —target=oci_database_db_system.db_system

170-1067-22 PDF Dumps | 1Z0-1067-22 VCE Dumps | 120-1067-22 Study Guide 2/4


https://www.pass4itsure.com/1z0-1067-22.html
https://www.pass4itsure.com/1z0-1067-22.html
https://www.pass4itsure.com/1z0-1067-22.html

VCE & PDF https://www.pass4itsure.com/1z0-1067-22.html
a 2024 Latest passditsure 170-1067-22 PDF and VCE dumps Download
== / PassditSure.com

D. terraform apply —target=oci_database_db_system.db_system

Correct Answer: D

QUESTION 3

Your deployment platform within Oracle Cloud Infrastructure (OCI) leverages a compute instance with multiple block
volumes attached. There are multiple teams that use the same compute instance and have access to these block
volumes. You want to ensure that no one accidentally deletes any of these block volumes. You have started to construct
the following IAM policy but need to determine which permissions should be used.

allow group DeploymentUsers to manage volume-family where ANY { request.permission !=, request.permission !=,
request.permission !=}

Which permissions can you use in place of in this policy? (Choose the best answer.)

A. VOLUME_DELETE, VOLUME_ATTACHMENT_DELETE, VOLUME_BACKUP_DELETE
B. VOLUME_ERASE, VOLUME_ATTACHMENT_ERASE, VOLUME_BACKUP_ERASE

C. ERASE_VOLUME, ERASE_VOLUME_ATTACHMENT, ERASE_VOLUME_BACKUP

D. DELETE_VOLUME, DELETE_VOLUME_ATTACHMENT, DELETE_VOLUME_BACKUP

Correct Answer: A

QUESTION 4

A subscriber of an Oracle Cloud Infrastructure (OCI) Notifications service topic complained about not receiving
messages from the service.

Which option can help you debug this issue? (Choose the best answer.)

A. If OCI Naotifications service does not receive an acknowledgement from a subscription endpoint, the service drops the
message. Confirm that the subscriber is always online to receive messages to help debug the issue.

B. If OCI Notifications service does not receive an acknowledgement from a subscription endpoint, check the
NumberOfNotificationFailed metric through the OCI Monitoring service for failed messages. Copy these messages to an
OCI Object Storage bucket. Make sure the subscriber has the required credentials to access this bucket to help debug
the issue.

C. If OCI Natifications service does not receive an acknowledgement from a subscription endpoint, the service tries to
redeliver messages for up to one day. Make sure that the subscriber is online at least once a day to help debug the
issue.

D. If OCI Notifications service does not receive an acknowledgement from a subscription endpoint, the service tries to

redeliver messages for up to two hours. Configure an alarm on the NumberOfNotificationFailed metric through the OCI
Monitoring service to help debug the issue.
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Correct Answer: D

QUESTION 5

One of the compute instances that you have deployed on Oracle Cloud Infrastructure (OCI) is malfunctioning. You have
created a console connection to remotely troubleshoot it.

Which two statements about console connections are TRUE? (Choose two.)
A. It is not possible to use VNC console connections to connect to Bare Metal Instances.

B. VNC console connection uses SSH port forwarding to create a secure connection from your local system to the VNC
server attached to your instance\\'s console.

C. Itis not possible to connect to the serial console to an instance running Microsoft Windows, however VNC console
connection can be used.

D. For security purpose, the console connection will not let you edit system configuration files.

E. If you do not disconnect from the session, your serial console connection will automatically be terminated after 24
hours.

Correct Answer: BE
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